





AKUTE




= T'oHopap: 2500 y.e.
[=]

m BreIicTymienme: 101 4.




= T'omopap: 10 000 y.e.
m IIPOMO
m Beicryruienme: 1o 1 4.







= T'omopap: 3000 y.e.
[=]

m BreIicTymienme: 101 4.
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= Jomopap: 11000 y.e.
[=]

m BeicTyrienme: 1o 1 u.




= Jomopap: 13100 y.e.
[=]

m BeicTyrienme: 1o 1 u.




= I'oHOpap: 8350 y.e
[=]

m BeicTyrienme: 45-60 muH.







= TI'omopap: ot 2500 y.e. + ObIT. 11 Tex. pavigep
m I[ITPOMO
= BeIicTymienne: mo 1 u.




. 650 y.e. + OBIT. u Tex. paviep




= I'omopap: ot 3650 y.e. + 10% ObIT. 11 TeX.
pavaep
= I[HPOMO

\







= I'oHopap: ot 350 y.e. mo 7005 + Tex. pangep OT
100 mo 200 y.e.

m IIPOMO

m BreIicTyruienme: 2 cera 1o 45 MuH. 111 3 ceTa
110 30 MMH.




COCKTAIL




= TI'omopap: 500 y.e.
[=]

m BrIicTyruienme: 2 cera 110 45 MuH.




Hopap: 500 y.e.
[IPOMO

Bricryrienme: 2 cera 1o 45 MuH. vt 3 ceTa










IF'ornopap: 600 y.e. + 200 y.e. Tex.pannep
IIPOMO

BeicTyruienme: 2 cera 1o 45 MuH. vwiu 3 ceTa
110 30 MuMH.
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y.e. Tex.paviiep



m Tomopap: 900 y.e. + 300 y.e. Tex.pavigep
= IIPOMO
m BrIicTyrieHme: 2 cera o 45 MuH.




= T'oHopap: 550 y.e.
= IIPOMO
= BricTrymienwme: 2 cera 11o 45 MmuH.




= T'omopap: 600 y.e.
m ITPOMO
m BrIicTyrieHme: 2 cera o 45 MuH.
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P« 50 y.e.
\ .H J MO
DBICTYILTICHME:




= T'omopap: 500 y.e.
m [IPOMO
m BrIicTyruienme: 2 cera 110 45 MuH.




BAND U Thbl




m I'omopap: 1100 y.e. + Tex.pangep
m ITPOMO
= BricTyruienne:




I'omopap: 1200 y.e. + 200-250 y.e.Tex. Pamigep
IIPOMO

BeicTyruienme: 2 cera 1o 45 MuH. vwiu 3 ceTa
110 30 MuMH.




